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s, For cachi queauoii@ four b‘pﬁﬁm are |

'Qﬂesﬁen&l to-4 caery L madk each, Question 5 camsz itk
. @5@ ofthem is the eorrect answer. Make youe cﬁmig,e (1, 2,'3 o 4) and shatle your answet
onY eOpﬁpal Answer Sheet. (&marks)

1. The smnnf?:ﬁan& 5164 is ..

What is. them:ssmg numberm tha ba;: above?
) 1954 '
@) 5132

{3y 5196

) 6

2. Which of the following:angles is an acute angle?

m a
@) b
&) e
@ 4



3,

B 55’@—9-_—; € — G

What s thie missing number i1 the box-above?
@ 45
3y 46

RGN

Wiite 8kg2 g in grams.
W s
@r 820g
€) #02g
@ 8200g

The bar graph below sliows the mutnbet 6f books.read by § children last year. Study the

graph dnd afswer Question s,

Nuititber of Books Read Last Year

‘Etica o

Ll

- Names of Children,

Bald

Alsk N S

6 4 B 2 1§ 20 24 2% 3 36 40 4f 4%
Nuiaber of Books Read
‘Who had read 12 fewer books than Caili last year?
) Alex
(2} Bala
(3) Danfsh
(43 ‘Erica
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Questions § o 12 camry 2 ks ench. Show your working clearly and write your answets in fe
spaces provided, For questions which require units; give your ansiers in the inits stated.
‘ (k4 miaxrks).

6. Compare thevolinhe of water in the 4 ideritical jugs below.

81 51 2l 5L

Jug B bhas3 Imiore waterthanJug {27 |-
Wht js the riissisig aniswerin the box above?

7 What isthe length of thepencil shown below?

| _upm_l-_t_iiltzlt_{;.:_ LB G Bl

Name the pair of parallel lines.

A




Completethenumbefp"}r"‘"““" o

2044, 2045,2066, 2068, 2088, 2090, - 2112, 2132

Ang:

10.

How wiany mote parts in the figure below sould be shaded to show that nf' the figure is
shaded?

1 whole:

3 S

IETRE

Attangs the ffactions in order. Begin with the smallest.

1o |

R [
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At first, Uncle Tom: atranged 8 rows Bf chairsin the hall. There:wem? chatrsin ¢ eachrow_,

Later, herwas asked to adda few moie such tows.of ehairs.

Bict statement below s eifhertrue, filse or riot possible o tell from theinformation given.

For each staterrient, put.a tick (') inthe correct columa,

Staiement ST T Troe

[ Not possxble

Uncle Tom arranged a total of 56 chairs at
ﬁ’rst '

. False

totell .

He arfangea atotal of 70 chalrs

| Thicre wers 60 chairs in the end.
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Forquestions 13 15, show your working diearly and wiite yorir aitswers i the spaces provided.
‘I‘hﬁi .; .-;- v . .
quEstio. (10 miarks)

13:  Mrs Lim bought a chair and a side table. She paid $43.70. for the chair. The chair cost
$1Z.405m078 than the side table.
(2) How much did the side table cost?

Ans: (2) {11

() How much:did the chair and the sidetabls cost altogether?
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or of waiks. available is-shiowt i brackets [ ] at the end of each question or part-
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14, Whiirali has 23 lasge-sized stickers, 54 mediiitn-sized stickers-and 116 small-sized stickers:

(4) “What isthe.question if the answweris 1397 [1 yitark]

(b) Whatisthe que‘stidnif‘fhc-answegig,fgﬁ? - ' (1 mark}

e

(¢) What s thé-question if the answer is.317 {1 mark]

Working space




15, Thetesro 9 shelvesin a eabiriet, There are 42 booksorsash dhiclf.

How:many%oﬁké are there altogether in the:cabinet? 2 narks]

(&) Wit if theferats 40 books o each shelf instead?

How maity bocks will theris be altogether it the cabinetY [1 mark]

- (b) "Whatifthere are8 shelves in the cabinet instead? . A
_How thtiy books will there be altogethier in the cabinet? [1 mark]

Erid-of-Paper
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SCHOOL : RULANG SCHOOL

LEVEL : PRIMARY 3
SUBJECT :  MATH
TERM  : 2024 WA3
Qi) |3

Q2) |4

Q3) |2

Q4) |3

Qs) | 2

Qs) | C

Q7) |7

Q8) |AD/iBC

Q9) | 2110

Q10y | 3

ALy, 2

Qi2)

Q13)

a)43.70 ~12.40 = 31.30
The side table coat $31.30
b)43.70 + 31.30 = $75.00
The side chair and the table cost $75.00 altogether.

Q14)

a) How many large and small-sized stickers are there altogether?
b) How many more small-sized stickers than large-sized stickers
does he have?
- ¢} How many more medium-sized stickers than large-sized stickers
does he have? - )

Pgl
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|Ti1—5)

42x9 5378
There are 378 books in the cabinet.

a0 x 9 = 360

There w1]l be 360 books in the cabinet.

| b)42x8=336 L :
1 There will 336 books in the cabmet

Pg2
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